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(1) The solution set of the equation: x> =1  inQis ......

a | {1}

b |{-1}
c [{-1,1}
d |0

2) [2,5] = {5} =

a |]2,5]
b | {2}

c |[2,5]
d |0

(3) The simplest form of the expression : V8- 2v2 = .....

a | —4v2
b |Zero
C 42
d | 2v10

(4) The volume of a cube of edge length 5cm equals ....cm3

a |25

b | 25«
c |30
d (125
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(5) The ordered pair which satisfies the relation: x + y = 7 is ....

a |(34)

b | (3,-10)
c [(-34)

d |(10,3)

(6) Slope of the straight line passing through the two points (5,0) , (6,0) equals ...

a |1

b | Zero
c |-1
d | undefined

(7) The arithmetic mean of the set of values 10,8,12, 7 and 13 is .....

a |50
b |12
c |13
d |10
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